
The villagers were unable to drive the goblins away because

The first goblin allowed Hershel to light his Hanukkah candle because

The king of the goblins lost his power because

The whole village was waiting for Hershel because

Name: _

Directions:
The first part of the sentences below tell what happened (the effect) in the book,
Hershel and the Hanukkah Goblins. Complete each sentence by telling the cause.

Hershel and the
Hanukkah Goblins

Cause and Effect

Reading Tip!
Remember: The cause is why something happened. The effect is what happened.

© BookPagez.com | Cause and Effect Sentence Stems



The villagers were unable to drive the goblins away because

The first goblin allowed Hershel to light his Hanukkah candle because

The king of the goblins lost his power because

The whole village was waiting for Hershel because

the goblins were too

powerful.

Herschel tricked

the goblin into thinking he could crush rocks with his hands.

he lit the Hanukkah candles.

Hershel saved Hanukkah.

Name: _

Directions:
The first part of the sentences below tell what happened (the effect) in the book,
Hershel and the Hanukkah Goblins. Complete each sentence by telling the cause.

Hershel and the
Hanukkah Goblins

Cause and Effect

Reading Tip!
Remember: The cause is why something happened. The effect is what happened.
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